2/18/10

CONFIDENTIAL

KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

Form ACO-1 September 1999 Form Must Be Typed

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

ORIGINAL

Operator: License # 30606	API No. 15 - 153-20851-00-00
Murfin Drilling Company, Inc.	County: Rawlins
Address: 250 N. Water, Suite 300 Wichita Kansas 67202	SW_SE_NW_SW_Sec. 16 Twp. 01 S. R. 35 East West
City/State/7in. William Rando O. 202	1879 FSL feet from S / N (circle one) Line of Section
Purchaser: Eaglwing FEB 1 8 2009	1435 FWL feet from E / W (circle one) Line of Section
Operator Contact Person: Leon Rodak	Footages Calculated from Nearest Outside Section Corner:
Phone: (316) 267-3241	(circle one) NE SE NW SW
Contractor: Name: Murfin Drilling Company, Inc.	Lease Name: Leonard Well #: 1-16
License: 30606	Field Name: Wildcat
Wellsite Geologist: Kevin Davis	Producing Formation: LKC
Designate Type of Completion:	Elevation: Ground: 3107 Kelly Bushing: 3112
✓ New Well Re-Entry Workover	Total Depth: 4755 Plug Back Total Depth:
Oil SWD SIOW Temp. Abd.	Amount of Surface Pipe Set and Cemented at 304 Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used?
✓ Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFeet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth tosx cmt.
Well Name:	01187626
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan PANT 519-09 (Data must be collected from the Reserve Pit)
Deepening Re-perf Conv. to Enhr./SWD	Chloride contentppm Fluid volumebbls
Plug BackPlug Back Total Depth	Dewatering method used
Commingled Docket No	
Dual Completion Docket No	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No	Operator Name:
10/19/07 10/27/07 10/28/07	Lease Name: License No.:
Spud Date or Date Reached TD Completion Date or	Quarter Sec TwpS. R East West
Recompletion Date Recompletion Date	County: Docket No.:
Kansas 67202, within 120 days of the spud date, recompletion, workove information of side two of this form will be held confidential for a period of 1	the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, er or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 2 months if requested in writing and submitted with the form (see rule 82-3-and geologist well report shall be attached with this form. ALL CEMENTING. Submit CP-111 form with all temporarily abandoned wells.
All requirements of the statutes, rules and regulations promulgated to regulation to regulation are complete and correct to the best of my knowledge.	ate the oil and gas industry have been fully complied with and the statements
Signature: / / / / / / / / / / / / / / / / / / /	KCC Office Use ONLY
Title: Leon Rodak, VP Production Date: 02/18/08/2	Letter of Confidentiality Received
Subscribed and sworn to belone me this	If Denied, Yes Date:
	Wireline Log Received KANSAS CORPORATION COMMISSIO
200	Geologist Report Received
Notary Public.	UIC Distribution FEB 18 2008
Date Commission Expires: 4/1/80/1	CONSERVATION DIVISION
OF N	WICHITA, KS

perator Name: Murfi	n Drilling Comp	any, Inc.	Lease	Name: Le	eonard		Well #: _1-1	6
ec. 16 Twp. 01			est Count	y: Rawlin	S			
NSTRUCTIONS: Sho ested, time tool open a emperature, fluid reco lectric Wireline Logs	and closed, flowing very, and flow rate	g and shut-in preses if gas to surface	ssures, whether sl e test, along with t	hut-in pres	sure reached	static level, hydro	ostatic pressur	ests giving interval res, bottom hole ed. Attach copy of all
rill Stem Tests Taken (Attach Additional Si	neets)	✓ Yes] No	√ Lo	g Format	ion (Top), Depth	and Datum	Sample
amples Sent to Geolo	·	✓ Yes	No	Name			Тор	Datum
fores Taken lectric Log Run (Submit Copy)	·	Yes 🗸] No] No	-	SEE AT	TACHED LIST		
ist All E. Logs Run:					SEE AT	IACHED LIST	CC	NFIDENTIAL
Dual Induction, Microresistivity	Compensa	ted Porosity	,					FEB 1 8 2008
			CASING RECORD	☐ Nev	v Used			Mers
		Report all stri	ngs set-conductor, s	urface, inter	mediate, produc		- I :	T
Purpose of String	Size Hole Drilled	Size Casin Set (In O.D	9	ight . / Ft.	Setting Depth	Type of Cement	# Sacks Used	Type and Percent Additives
Surface		8 5/8	23#		304	Common	200	3% cc, 2% gel
		ADDI	TIONAL CEMENT	ING / SQU	EEZE RECOR			
Purpose: —— Perforate —— Protect Casing —— Plug Back TD —— Plug Off Zone	Depth Top Bottom	Type of Cem	ent #Sack	s Used		Type and	Percent Additives	S
	PERFORAT	ION BECORD - Br	idge Plugs Set/Type	•	Acid. Fra	acture, Shot, Cemei	nt Squeeze Reco	ord
Shots Per Foot	Specify	Footage of Each Int	erval Perforated		(F	Amount and Kind of M	faterial Used)	Depth
			·					
					-			
						-		
TUBING RECORD	Size	Set At	Packer	At	Liner Run	Yes N	0	1.
Date of First, Resumerd	Production, SWD or	Enhr. Produ	icing Method					
				Flowing				ner (Explain)
Estimated Production Per 24 Hours	Oil	Bbls. G	as Mcf	Wate	r	Bbls.	Gas-Oil Ratio	Gravity
Disposition of Gas	METHOD OF	COMPLETION			Production Inte	erval	KAI	RECEIVED NSAS CORPORATION CO

		1	879 FSL Sec. 16-	d #1-16 1435 FWL -1S-35W 2' KB			C SE Sec. 16-	on #1-16 E NW -1S-35W 5' KB
Formation	Sample top	Datum	Ref	Log tops	Datum	Ref	Log tops	Datum
Anhydrite	3003	+109	Flat	3002	+110	+1	3046	+109
B/Anhydrite	3036	+76	Flat	3036	+76	Flat	3079	+76
Foraker	3622	-510	-4	3622	-510	-4	3661	-506
Topeka	3835	-723	-8	3831	-719	-4	3894	-715
Oread	3936	-824	Flat	3934	-822	+2	3979	-824
Heebner	3993	-881	-1	3991	-879	+1	4035	-880
Lansing	4049	-937	-1	4048	-936	Flat	4091	-936
BKC	4320	-1208	-3	4315	-1203	-2	4360	-1205
Mississippi	4682	-1570		4702	-1590		NDE	
RTD	4755			4755	-1643		4400	-1245
LTD				4753	-1641		4389	-1234

CONFIDENTIAL FEB 1 8 2008 KCC

RECEIVED KANSAS CORPORATION COMMISSION

FEB 18 2008



24 S. Lincoln Street P.O. Box 31

Russell, KS 67665-2906

Voice:

(785) 483-3887 (785) 483-5566

Fax:

Murfin Drlg. Co., Inc. 250 N. Water STE #300 Wichita, KS 67202

11-1507

Invoice Number: 110777

Invoice Date: Oct 23, 2007 1

Page:

Customer.ID	Well Name# or Customer P.O.	Paymen	Terms
Murfin	Leonard #1-16	Net 30	Harris Company of the State of
Sales Rep ID	Camp Location	Service Date	Due Date
The state of the s	Oakley	Oct 23, 2007	11/22/07

				Amount
Quantity	Item	Description	Unit Price	2,520.00
200.00	MAT	Common Class A	12.60	
4.00	MAT	Gel	16.65	66.60
7.00	MAT	Chloride	46.60	326.20
211.00	SER	Handling	1.90	400.90
80.00	SER	Mileage 211 sx @.09 per sk per mir	18.99	1,519.20
	SER	Surface	815.00	815.00
80.00		Mileage Pump Truck	6.00	480.00
1	l	Head Rental	100.00	100.00
1.00	SER	Surface Plug	60.00	60.00
	E	Blod 003 av 2980 645.19 (628.79)	RECEIVED S CORPORATION COMMIS	S, Sg.
			FEB 18 2008 CONSERVATION DIVISION HO	

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 628.79

ONLY IF PAID ON OR BEFORE

Nov 22, 2007

	- "CALCINI DIAIR"	
Subtotal	CONSERVATION DIV.	6,287.90
Sales Tax		 187.29
Total Invoice Amount	·	6,475.19
Payment/Credit Applied		
TOTAL		6,475.19
The second secon	State Control of the	- A

ALLIED CEMENTING CO., INC. 28809

IF PAID IN 30 DAYS

PRINTED NAME

CONSERVATION DIVISION WICHITA, KS

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665	SERVICE POINT: OAKIEY	
10-19-07 SEC. TWP. 5 RANGE 35 W	CALLED OUT ON LOCATION JOB START JOB FINISH PART OF START	1
LEASE WELL# /-/6 LOCATION # WED	of 10w-2N-1/4W-1/4W RAWLENS KS	
OLD OR NEW (Circle one) 5- INTO	7 10 to 210 - 140 112 14 14 14 14 14 14 14 14 14 14 14 14 14	
4		
CONTRACTOR MURETN ARIG. Rt6 3 TYPE OF JOB SURFACE	OWNER SAME	
TYPE OF JOB SURFACE HOLE SIZE /2/4 T.D. 304	CEMENT	
CASING SIZE 8 3/8" DEPTH 304	AMOUNT ORDERED	
TUBING SIZE DEPTH	200 SKS COM 3 & CC 2% 681	
DRILL PIPE DEPTH		
TOOL DEPTH PRES. MAX MINIMUM	COMMON 200 SKS @ 12 60 2520 00	
MEAS. LINE SHOE JOINT	POZMIX @	_
CEMENT LEFT IN CSG. 15	GEL 4 5KS @ 16 60	
PERFS.	CHLORIDE 7 5Ks @ 46 62 326 20	
DISPLACEMENT 18/2 BB/s	ASC@	
EQUIPMENT	@	CONFIDENTIAL
		FEB 18 2008
PUMPTRUCK CEMENTER TEARY # 422 HELPER WAYNE	@	LCD I A FASS
# #22 HELPER WAYNE BULK TRUCK	@	KCC.
#. 2/8 DRIVER JERRY		
BULK TRUCK	@	
# DRIVER	######################################	
	MILEAGE 94 PERSK/MI/C 1519 20	
REMARKS:	TOTAL 4832 90	
CEMENT SID CIRC		
10 BBIS TO PET	SERVICE	t
10 BBIS TO PIT	DEPTH OF IOD	
	DEPTH OF JOB	
	EXTRA FOOTAGE @	
	MILEAGE 80 ME@ 6 % 480 %	
Tel W Vall	MANIFOLD@	
THANK YOU	HEACL RESTAL @ 100 E	
CHARGE TO: MURFEN DRLL, CO.		.
	TOTAL 1395	
STREET	TOTAL	
CITYSTATEZIP	NV V.C. A. EV. O. I.M. P. O. I.M.	· ·
	PLUG & FLOAT EQUIPMENT	
	878 SUCFACE Plub 60 4	
		•
To Allied Cementing Co., Inc.	@	•
You are hereby requested to rent cementing equipment		
and furnish cementer and helper to assist owner or		
contractor to do work as is listed. The above work was	, ev	
done to satisfaction and supervision of owner agent or	TOTAL 60 4	
contractor. I have read & understand the "TERMS AND	TAX	
CONDITIONS" listed on the reverse side.		RECEIVED KANSAS CORPORATION COMMISSION
	TOTAL CHARGE	VANSAS CORPORATION COMMISSION
	DISCOLUE	Mason

SIGNATURE Kulls Van Prot



24 S. Lincoln Street P.O. Box 31

Russell, KS 67665-2906

Voice: Fax: (785) 483-3887 (785) 483-5566

EMPROR

Murfin Drlg. Co., Inc. 250 N. Water STE #300

Wichita, KS 67202

INVOICEMEN

Invoice Number: 110957

Invoice Date: Oct 31, 2007

Page:

1

CONFIDE....

FEB 18 2008

KCC

PRUL JPY

evitano (D	Participation of the second second	incluites - 1	STOTAL STATES
Murfin	Leonard #1-16	Net 30	Days
Sales Rapile	ા ઉભાગમાં વસ્તામાં માટે કે માટે	synvia ionn	semplano :
	Oakley	Oct 31, 2007	11/30/07

		Carrio	30131, 2007	1 11 001 01
evendy/	ilom	ট্টোন্টোৰ্টাৰ্টা	्रणात्राहरू	Amoint .
60.00	MAT	Common Class A	12.60	756.00
40.00	MAT ·	Pozmix	6.40	256.00
4.00	MAT	Gel	16.65	66.60
25.00	MAT	Flo Seal	2.00	50.00
105.00		Handling	1.90	199.50
80.00		Mileage 105 sx @.09 per sk per mi	9.45	756.00
1.00	1	Plug to Abandon	955.00	955.00
80.00		Mileage Pump Truck	6.00	480.00
1.00		Dry Hole Plug	35.00	35.00
		03600 003 W 2980 397 (3.	8.0/ 5.41)	DIA
ALL DRICES A	DE NET DAVA	Subtotal		3,554.10

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF



ONLY IF PAID ON OR BEFORE

(KIOTY & XO), 12(0)7/

Subtotal 3,554.10

Sales Tax 223.91

Total Invoice Amount 3,778.01

Payment/Credit Applied PECEIVED SIGN SIGN 3,778.01

FEB 18 2008
CONSERVATION DIVISION WICHTA, KS

355.41

3422.60

ALLIED CEMENTING CO., INC. 28818

REMIT TO, P.O. I	BOX 31 SELL, KAN	SAS 676	65		SERV	VICE POINT: <i>OAK</i>	/εγ
10-28-07 DATE	SEC. /6	TWP.	RANGE 35 W	CALLED OUT	ON LOCATION 5:00 AM	JOB START 830Am	JOB FINISH 9.30 AM
LEONA Rd			LOCATION Atwo	00/ 10/11- 201-		COUNTY	STATE
OLD OR NEW (C		7 70	# INto	76 10W ZN	14 4 1172 12	7/1/2/2/2	/ /
CONTRACTOR			RI6#3	OWNER	SAME		
TYPE OF JOB	PTI		*	- CIERALENIE			
HOLE SIZE	778	T.D		CEMENT	DDDDDD		
CASING SIZE			PTH	AMOUNT O	RDERED	000 1/40	
TUBING SIZE	4/2'	DEI	PTH 300 /	TOUSKS	60/40p0241	oce 14 Pl	5 -5EA-1
DRILL PIPE	412		PTH 2260				
TOOL			PTH		605KS	@ 12 60	م مرد وسدر
PRES. MAX			NIMUM	_ COMMON_		_ @ <u> </u>	_/36_E
MEAS. LINE		SHO	DE JOINT	POZMIX _	465KS	@ 6 70	256 7
CEMENT LEFT I	N CSG.		 	_ GEL _	4) SES	_@_16 &\$	66 60
PERFS.	- -		, <u>, , , , , , , , , , , , , , , , , , </u>	_ CHLORIDE		_@	
DISPLACEMENT	[•	ASC	··	_@	
	EOUI	PMENT				_@	
	. د و					_@	
			ERRY	- Plasse	25 est	_@ <u>2 📽 _</u>	50 %
	CEMENTE			-			
	HELPER	и	IAYNE	-			
BULK TRUCK							
# · 377	DRIVER		ARENE			@	
BULK TRUCK						_	
#	DRIVER			- HANDLING	105 565	@ / 2	199 50
					94 PERSKI	maric	756 隻
	73.773	ADIZO.		MILLAGE _	1 4 1:00		
		IARKS:				TOTAL	2084 10
35 SKS A	+ 22	60'		_			
40 SKS A		6		_	SERVI	CE	
IN SKS A	T 4	0					
	AT HO			_ DEPTH OF J	OB	2260	/
					CK CHARGE		955
				EXTRA FOC		@	, , , , , , ,
				_ MILEAGE			48000
				_			7000
			THANK YOU	- MANIFOLD	·	_ @	
			THANK POU				
						_ @	
CHARGE TO:	MURFI.	N DI	RL6, CO.	_			1.1
STREET						TOTAL	1435 8
STREET				-			
CITY	STA	TE	ZIP				****
					PLUG & FLOA	I EQUIPMEN	ديمه
				\$ 8 ² /8	DAY HOLE Pla	16	<u>35 %</u>
				-		@	
To Allied Cementing Co., Inc.							
			nenting equipment				
and furnish cem	enter and h	elper to a	assist owner or				
contractor to do	work as is	listed. T	he above work was				35 %
done to satisfact	ion and sup	ervision	of owner agent or			TOTAL	4
			d the "TERMS AND)			
CONDITIONS"				TAX		_	
JU1.D111U11U	OII ti			тоты спа	ARGE		
				DISCOUNT		IF PAI	D IN 30 DAYS
	,						
	V.ml	11	0 1				
SIGNATURE	of elle	Von	Tet -				· · · · · · · · · · · · · · · · · · ·
	/ L	•	•		PRINT	ED NAME	

FEB 1 8 2008

RECEIVED KANSAS CORPORATION COMMISSI

FEB 18 2008

CONSERVATION DIVISION WICHITA, KS